2101610/2101611

VITABEDSIDE TABLE

=3

HOUSE

NORDIC

. 100%
Wood from well

FSC

-l

managed forests
ww.fsc.org FSC“ C158023

1/14




GB

DK

DE

SE

FI

PL

cz

NL

SK

FR

ES

RO

IMPORTANT INFORMATION!
Please read the entire manual carefully before starting to assemble and/or using this product. Follow the manual thoroughly and keep it for further
reference.

VIGTIG INFORMATION!
Laes hele manualen grundigt igennem far samling og/eller brug af dette produkt. Felg manualen ngje, og opbevar den til senere brug.

WICHTIGE INFORMATIONEN!
Bitte lesen Sie die gesamte Anleitung sorgféltig durch, bevor Sie mit der Montage und/oder Verwendung dieses Produkts beginnen. Befolgen Sie die
Anleitung genau und bewahren Sie diese fiir den spéteren Gebrauch auf.

VIKTIG INFORMATION!
Lé&s bruksanvisningen i sin helhet innan du bérjar att montera och/eller anvédnda produkten. F6lj bruksanvisningen noggrant och spara den for framtida
referens.

TARKEITA TIETOJA
Lue kéyttéohjeet kokonaan ennen tdmén tuotteen kokoamista ja/tai kdyttéa. Noudata kdyttbohjeita tarkasti ja séilytd ne my6hempéaé tarvetta varten.

WAZNE INFORMACJE.
Przed uzyciem produktu nalezy doktadnie zapoznac sie ze wskazéwkami bezpieczenstwa. Nalezy zapoznac sie z instrukcjg obstugi i zachowac jg do
uzytku w przysztosci.

DULEZITE INFORMACE!
Pred sestavenim nebo pouZzitim vyrobku si peclivé prectéte cely navod. DodrZujte dusledné uvedené pokyny a navod uschovejte, aby byl k dispozici v
pripadé potreby.

BELANGRIJKE INFORMATIE!
Lees de volledige handleiding zorgvuldig door voordat u dit product gebruikt. Volg de handleiding zorgvuldig en bewaar deze voor toekomstig gebruik.

DOLEZITE INFORMACIE!
Predtym ako zacnete s montazou a/alebo pouZivanim tohto produktu, precitajte si cely navod. Navod désledne dodrziavajte a ponechajte si ho pre
pouZzitie v budtcnosti.

INFORMATIONS IMPORTANTES
Veuillez lire attentivement 'ensemble du manuel avant d’assembler ou d'utiliser ce produit. Suivez rigoureusement le manuel et conservez-le pour
toute consultation ultérieure.

INFORMAZIONI IMPORTANTI!
Si prega di leggere attentamente l'intero manuale prima di assemblare e/o utilizzare questo prodotto. Seguire rigorosamente le istruzioni di questo
manuale e conservarlo per una successiva consultazione.

INFORMACION IMPORTANTE
Leer con atencién todo el manual antes de comenzar a ensamblar o a utilizar este producto. Seguir a conciencia las instrucciones del manual y
conservarlo para futuras consultas.

INFORMATII IMPORTANTE
Cititi cu atentie intregul manual inainte de a incepe sé& asamblati si/sau utilizati acest produs. Urmati indeaproape instructiunile din manual si pastrati-I
pentru consultare ulterioara.

2/14




GB

DK

DE

SE

FI

PL

cz

NL

SK

FR

ES

RO

WARNING TO AVOID SCRATCHES!
In order to avoid scratching this furniture should be assembled on a soft layer - could be a rug.

ADVARSEL FOR AT FORHINDRE RIDSER!
For at forhindre ridser skal dette mabel samles pé et bladt underlag, f.eks. et teeppe.

HINWEIS ZUR VERMEIDUNG VON KRATZERN
Um Kratzer zu vermeiden, sollte dieses Mdbelstiick auf einer weichen Unterlage montiert werden (z. B. Teppich).

VARNING OM HUR DU UNDVIKER REPOR!
Fér att undvika repor ska denna mébel monteras pé ett mjukt underlag, exempelvis en matta.

VARO NAARMUJA!
Varo naarmuja ja kokoa tdémé kaluste pehmealla alustalla, esimerkiksi maton paalla.

OSTRZEZENIE WS. USZKODZEN
Aby unikngc¢ rys, ten mebel powinien by¢ montowany, sktadany na miekkim podfozu, np. dywanie.

VAROVANI TYKAJICI SE POSKRABANI!
Aby nedoslo k poskrabani, sestavujte nabytek na mékkém podkladu — napf. na koberci.

WAARSCHUWING OM KRASSEN TE VERMIJDEN!
Om te voorkomen dat dit meubel krassen vertoont, moet het gemonteerd worden op een zachte ondergrond - zoals een tapijt.

VYSTRAHA TYKAJUCA SA PREDCHADZANIA SKRABANCOM!
Aby sa predislo skrabancom, tento nabytok by sa mal montovat’ na mékkom podklade, napriklad na koberci.

AVERTISSEMENT POUR EVITER LES RAYURES
Afin d’éviter les rayures, ce meuble doit étre monté sur une surface souple (un tapis, par exemple).

AVVERTENZA PER EVITARE | GRAFFI!
Per evitare i graffi, si raccomanda di montare questo mobile su una superficie morbida (come ad es. un tappeto).

ADVERTENCIA PARA EVITAR RAYADURAS
Para no rayar este mueble, es aconsejable ensamblarlo sobre una superficie suave (posiblemente una alfombra).

ATENTIONARE PENTRU EVITAREA ZGARIETURII!
Pentru evitarea zgarierii, aceasta piesa de mobilier trebuie sa fie montata pe o suprafatd moale, de exemplu, pe un covor.

3/14




GB

DK

DE

SE

FI

PL

cz

NL

SK

FR

ES

RO

GENERAL INSTRUCTION FOR FURNITURE SURFACES!
Wipe clean with a damp cloth. Use only water or a gentle detergent. Wipe dry with a clean cloth.

GENEREL VEJLEDNING TIL MOBLER!
Renggres med en fugtig klud. Anvend kun vand eller et mildt vaskemiddel. Tarres af med en ren klud.

ALLGEMEINE HINWEISE FUR MOBEL!
Mit einem feuchten Tuch abwischen. Nur Wasser oder ein mildes Reinigungsmittel verwenden. Mit einem sauberen Tuch trocken reiben.

ALLMANNA INSTRUKTIONER GALLANDE MOBLER!
Torka rent med en fuktig trasa. Anvénd endast vatten eller ett milt rengéringsmedel. Torka torrt med en ren trasa.

YLEISTA OHJEITA KALUSTEILLE!
Pyyhi puhtaaksi kostealla liinalla. Kdyté vain vetté tai mietoa pesuainetta. Kuivaa puhtaalla liinalla.

OGOLNE INSTRUKCJE DOTYCZACE MEBLI!
Do czyszczenia nalezy uzywac wilgotnej Sciereczki. Uzywac wytgcznie wody lub delikatnego detergentu. Wyciera¢ do sucha Sciereczka.

OBECNE POKYNY TYKAJICI SE NABYTKU!
Cistéte otfenim navihéenym hadfikem. PouZivejte pouze vodu nebo jemny Gistici prostfedek. Vytrete dosucha istym hadfikem.

ALGEMENE INSTRUCTIES VOOR MEUBELS!
Reinig met een vochtige doek. Gebruik alleen water of wasmiddel. Droogwrijven met een schone doek.

VSEOBECNE POKYNY PRE NABYTOK!
Utrite docista navihc¢enou utierkou. PouZivajte iba vodu alebo jemny Cistiaci prostriedok. Utrite dosucha cCistou utierkou.

INSTRUCTIONS GENERALES POUR LE MOBILIER
Nettoyer a I'aide d’un chiffon humide. Utiliser uniquement de I'eau ou un détergent doux. Essuyer a I'aide d’un chiffon propre.

ISTRUZIONI GENERALI PER MOBILI!
Pulire con un panno umido. Utilizzare solo acqua o un detergente delicato. Asciugare con un panno pulito.

INSTRUCCIONES GENERALES ACERCA DE LOS MUEBLES
Limpiar con un pafio himedo. Usar solo agua o un detergente suave. Secar con un pano limpio.

INSTRUCTIUNI GENERALE PENTRU MOBILIER!
Curéatati prin stergere cu o lavetd umeda. Utilizati numai apd sau un detergent delicat. Uscati prin stergere cu o laveta curata.

4/14




GB

DK

DE

SE

FI

PL

cz

NL

SK

FR

ES

RO

IMPORTANT!
It is important that any product which is assembled using any kind of screw is re-tightened 2 weeks after assembly, and once every 3 months - in order
to assure stability throughout the lifespan of the product.

VIGTIGT!
Det er vigtigt, at alle produkter, der samles med alle former for skruer, efterspaendes to uger efter samling samt hver tredje maned for at sikre, at
produktet er stabilt i hele dets levetid.

WICHTIG!
Es ist wichtig, bei jedem mit Schrauben montierten Produkt diese 2 Wochen nach dem Zusammenbau sowie einmal alle 3 Monate wieder anzuziehen,
um die Stabilitét des Produkts liber die gesamte Lebensdauer hinweg zu gewéhrleisten.

VIKTIGT!
Fér alla produkter som monteras med skruv &r det viktigt att dessa efterdras tva veckor efter monteringen och dérefter en gang var tredje manad. Detta
for att sdkerstélla att produkten haller sig stabil under hela sin livsldngd.

TARKEAA!
On térkeda, etté kaikki ruuvien avulla koottavat tuotteet kiristetdén uudelleen 2 viikkoa kokoamisen jélkeen ja aina 3 kuukauden vélein, jotta tuote
pysyy vakaana koko kayttéikdnséa ajan.

WAZNE!
Wazne jest, zeby kazdy ze skrecanych produktéw zostat ponownie dokrecony w ciggu 2 tygodni od montazu, a nastepnie sprawdzac co 3 miesigce czy
Sruby sg dokrecone — w celu zapewnienia stabilno$ci przez czas uzytkowania produktu.

DULEZITE!
U kazdého vyrobku, ktery se sestavuje pomoci jakychkoliv Sroubkd, je dileZité dotahnout Sroubky 2 tydny po sestaveni a potom kazdé 3 mésice, aby
byla zajisténa stabilita po celou dobu Zivotnosti vyrobku.

BELANGRIJK!
Het is belangrijk om elk product dat met en bout gemonteerd, twee weken na montage en om de drie maanden, opnieuw wordt vastgeschroefd, om de
stabiliteit van het product tijdens de hele levensduur te verzekeren.

DOLEZITE!
Je délezité, aby sa na akomkolvek produkte, montovanom pomocou akychkolvek skrutiek, skrutky dotiahli po dvoch tyzdrioch od montaze, a jedenkrat
v priebehu kazdych 3 mesiacov — tak sa zaruci stabilita pocas celej Zivotnosti produktu.

IMPORTANT!
Il est important que tout produit monté a I'aide de vis soit resserré 2 semaines apres son montage, puis tous les 3 mois, afin de garantir sa stabilité
durant tout son cycle de vie.

IMPORTANTE!
E importante in ogni prodotto montato con viti serrare ben strette le viti 2 settimane dopo il montaggio e poi ogni 3 mesi per garantire la sua stabilita
durante tutta la durata del prodotto.

IMPORTANTE!
En el caso de los productos ensamblados, es importante volver a apretar los tornillos 2 semanas después del montaje y después cada 3 meses, para
asi preservar la estabilidad durante toda la vida util del producto.

IMPORTANT!
Este important ca suruburile de orice tip, cu ajutorul cérora au fost montate produsele, sé fie strénse din nou la 2 sdptdmani dupa montare si, apoi, o
daté la 3 luni, pentru a garanta stabilitatea pe durata de viatd a produsului.

5/14




Ax 4 B x 4 Cx12 Dx8
M6 x 35 M5 x 25 04x10

E x4 F x 1 Gx 1 Hx?2
G e 8 %%%¢¢%¢
B4 x 35 M4 x 16 M5 x 24

| x 1 J x4 Kx12

~ || &

M3 ©6.6 x 7 @3.5x12

6/14




7/14



|||||||||||

H1

|||||||||||

8/14



Dx4

24x10

Ix4
P~

M3

Cx6

@)))))))))))))))

M5x25

O

9/14



I x 1
(NN

M5x25

Dx4

@4x10

Cx6
(@)

M5x25

(&

Jx4

26.6x7

10/14



B x4

-

M6x35

Ax4

11/14



12/14



|||||||||||

0@ ————=3 0,0 o
H2

|||||||||||

13/14



/@
RN

/
N

https://quefairedemesdechets.fr

14/14




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14

